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1. 8% k& (25)

Bk A & &2 23 Cobb-Douglass #4% &8, F(K,L)=Y =K', % Y~ K~ L4575

RTEE - BABAHSEGHHZA -

a. WA Lz 4 & &EF B & HAL IR B (constant return to scale)Z 4544 - (2)

b RABLEZLMFTHLT » &AM 3A(capital share) 52 3 #4338 (labor share) % % 231,
PAEMTE - 4)

c. RMUALZ 4 EHBUPHEMEEGREAT » 4o flH)=y=Y/L » k=K/L » $05 %3448
FEMERTZAEERBAT ?(2)

d. &= Solow REEA(BE - HHEEHE)Z T D3R s B OEATHEEHFEE
BABREA A Rk F o BT KA L Ik B (steady state)? AR E RRBTKRET
Z R Y*? BRALERARTRET » K AR y*R s ~ S 2 Mtk - (6)

e & K=81 L=100> 33t 5 H Y 4% D28£06=002>5=01 R ERBETHKET
zé HOM L & (c*)?(6)

f. 4#T3F8 4% (golden rule)?4RFH 460 » HERG)E S %V 24)

. SBAMBIFIE 25)

2008-09 2 X B R R AMUREAIHF 2 2REMAR - RRLRSBAKBZIEE > £ KE

B % & & § A (sub-prime crisis) Fr3lie » EARRAREARZERAAMEIERE 4o

2IRE E k4 (global current account imbalance) ; R PAEE % > w i BB EFBLITNR

3 2000 F 2 - 8R EMEF - R A B4 5 3% Bl (Taylor rule) - 42 4% 5 #54] F FBfRb A B 1

RAREM -

a MHERRFAEARITELRETRAH ?2MEBELH LR P RALMEHKETIHRAERE
HEERSFENRERILREBEHRZRRA? (10)

b. — &M% > FTHREFANLEZLTE  RAZ - RAMTE E1b L (quantitative easing -
QE)# R » A4T QE X 4% 4 JE1% 4.2 B % 3 & (unconventional monetary policy)?(9)

C. HAMBEMAAMNTRLBAMHELEREZHE  CRXBRTRDHBERS -
BREZA RHFRBZT > HERHMKA TR T ERF

Bt‘Bz-1=rBt-1+ Gt' Tt (1)

AP B ERTEHXEBRE GERTEHIBRIE  TERTFE I HZBERR
W r AR RBERABBR) G-T - Bp A —#&AAE2 B4 FKF (primary deficit, 277 2#
EFF) - BBHEREE  LATREAFTLT

(B/Y) - (Bea/Yi) = (r - @) Bur/Yi)) + (Gi- T)/ Y1, (2)

BEFY, 7% t#¥x GDP > g & GDP k% BV &R H t 2K GDP 2
befp) o

d REXQ) RAKHERELWZEE ? dNBRZAHHRFAFFNEHRERER
Q) » st TR EF 7 (6)
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1. For the total cost function
TC(y) = y? + 10y + 25, y>0
(a) What is the fixed cost for this firm? (4%)
(b) Determine the optimal output for the average cost minimization problem. (8%)
(c) Show the range of output to satisfy that the marginal cost is less than the average cost where the
average cost is falling. (6%)

2. A monopolist supplies two markets, one at home, the other abroad. The inverse demand functions
are
r1=10—¢q, at the home market;
p, =10 —2q, at the foreign market.
where 41 denotes home sales and 92 foreign sales. The firm’s total-cost function is
€ = 0.5(q; +q2)°
(a) List 3 assumptions of a monopoly market. (6%)
(b) Find the monopolist’s profit-maximizing outputs for both markets (no arbitrage between the
markets is possible). (8%)
(c) Find the monopolist’s profit-maximizing prices for both markets. (4%)

3. A consumer has the utility function
Ulxy,x3) = x1%,
and she faces the money-income constraint
2x1 4+ 3x, =100
and the time constraint
xy+ 4x, =80
(a) What is her marginal rate of substitution (MRS) between two products? How to explain the
meaning of the MRS? (6%)
(b) Solve for her utility-maximizing consumption bundle. (8%)



